Math 10 P/‘adL; C&Final Exam Bas-t

Name: Ke\i
1. aiven: {(01),(4,4),(29),(7.2),(5.5)}

ol—11
Domain: N
£0,24,57} 2
Range: / H Y
é( / zl ‘-' ! 5; 73 S
Is this a Function? 7 o,
Tes
2. Evaluate f(a)=a3—4findf(—2) = (-2)3—7
- -g-Y4
= -2
3.
y
o

Domain: <\"_’)) \] o -3< XS}
Range: [-LI,O] o ’L/-é- \/SO

Is this a Function? Y es



Evaluate m(v)=v+3 find m(4v—3) = G\) -':))""3

Are these lines Parallel, Perpendicular or neither?

m(‘-lu-3): Qv

y=—§—x+7

=—x+3
r=3

2
Graph y= 5x—4 and draw a perpendicular line through (O,—4)

4

4

Pefpemal:cula/“

A
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Math 10 Final Exam Part 1

7 solve by graphing

(€ -3)

8. Write the equation of a line passing through (2,3) and (4,2)
in STANDARD form (Ax+By=C)

:2"’S -

m = 2= —_?\_—(2)—)-10
==L 3=-l+b
Z wl ¥

—_—
“=b
\/:'éx-\-"f
&Jiar *"%’\




Math 10 Final Exam Part 1

9. Write the equation of a line in slope intercept form ( y= mx+b)

passing through (—2,—1) and parallel to y=-3x-5

\I:mx*—b M= D (x,y)>(‘2,'|)

\1 = '3%"7

10.  Write the equation of this line in slope intercept form ( y= mx+b)

= -4 >(-+:'>
175

NI i




Math 10 Final Exam Part 1

11.  Solve by graphing: _ I
3x+y=-5 M- 3%
x+y=-1 \1'- -% =1

A




12.  Solve by substitution

Final Exam Part 1

-¢ .
%(x«i'q) = - Sl _g) +]
2 © 4/
2o+l XTI
-G
-C
q o >
}ix = ;%X +'j—
"%X "3>< |
= s .
Q(%X\ K(’z—)(o Y:}i(x#f)fé avd X2
3% = 26
'l——Yr TR y:%—(z#()-#é
{1‘5’) Y""\l \/:%(C) +C
Y=°lic
13.  Solve by elimination ii:_i};:i \f =15
2 1x =35y =2|
20x +33Yy =20 3(0-5‘7 =3
Ylx = 11 — > o
—_l:t—( H I T --j__:r =
x =I -5 -5
(1.6 .0



Math 10 Final Exam Part 1

Write the equation of both lines passing through the following points then solve by

14.
elimination.
Line 1;[_9,4J and (_9,6) Line 2: [Z,i] and (i 'EJ
> 55 5'5
m= G-Y
c _-% __I_g 4
R me 3 S
H _2
_ 2 CHEFY
2
< 14
(Y .
= 2.5 %
:S— .‘-,-i- o.-‘s:-—
\lzmx-\—\o mzS (»375-?(’.;"-\) S 2
=7
) 4 -9(%)+h
H :-?'*b 5 5
AL H = lb;i +b
B}
2= b g e
S+l s
" 1o _
Y 2l
-2 = b
- \1 "7)(""2-
- . xR, xZ
o= 2% ‘f"‘/ Y
}_ZK‘:TZL;‘ \r= 7(7) -2
7 = s
* pues \/
= Y7 )
! (7 47
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Math 10
_1 4
15.  a) Solve by substitution ¥~ 2~
y=x-1
-1 x -9 = x = \{‘:X'l and x=-
2
s - % - \{:'2‘(
3w -y = y=->
2 g+ \/
_ +
('2 ‘3) 2’(‘%%'@;
’ ,.3}3,:':—_3— x:'z
- T T2x+y=-2
b) solve by elimination —6x+2y=26
3 -
2X+7:*’2 k“:) ék +3‘7- é
—kaZY:Zé , ’f_:_ﬁ:}“
Sp" 22
C
="
2x+7 = —2 ady-‘f
2x+4 - '._,Z
-3.4) i
- SR

use the answers (points) from parts a & b to find the equation of a ﬁh‘e in

c)
STANDARD form (Ax+ By =C)

M = i:'_:é___ \/:wtx-*b
,3-'1 -3:*7("2)"’%
A -3 = 14 +b
~ iy =19
- -1 -1 b
y=~x =17
+7x  4/x

7x+7 =7
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Name:

5
16 Simplify using only POSITIVE exponents (2a3bzc‘4)
S oas b 1o -20
Z a <

a{blf?

T La
C:'ZD

17 2. Find the Least Common Muiltiple (LCM) of 20 and 15

20 18
4 A
1o 2
3 2
5,/}2. LCM =2 55
2.5 33 = (o
I@ ﬁ Simplify using only POSITIVE exponents (EM
(1097°)
2 S
30 x v
joo “2‘7 <

A A

[O



Math 10

19 & Find the Greatest Common Factor (GCF) of 18 and 36

X4 36
/ /\2
g% 1%
g N
7®
CLF = 3.3 2
G = I< 3
207 Simplify using only POSITIVE exponents { x'y" ) ]

KT
X 7
) 2 "'2 O -

7

2 ' B. Simplify using only POSITIVE exponents

Final Exam Part 2
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247 Find the Least Common Multiple (LCM) of 18x°y,12x*y* and 30x°y

| & | 30

/ /\ N_
¢ > 43 5
A N N
22 22 2 ®

20 2:35 e
LeM= 2735 XY
= 180 x""yl

2_3 y.4 Simplify using only POSITIVE exponents and find the Greatest Common Factor (GCF)

(oxty) (ax'y7) (o) () ()

23"

“ -~ 6 & , . - 5 Y
91"‘/ XL{\I X 7 9x v * 2% 7
3".1(:‘ xmy & 3‘(. 2"' ;(’0\11

| he =
GeF = 32t Ky
=[296 xlo‘/z

ZLI ¥ Solve for x:

x-1
5x+2= i >( : '2)(
25

’(“’2, ,2 X"')

'Y r(b’ )

X2 omaxtR Ix =22
- - 2 —

"z Bl < =0

X =2-2x



26

27

238

9 W.

Math 10

Simplify: (5x2 —7x+ 4)— (4)(2 -7x+ 4)

2
X

Expand (multiply): %x(14x—7)
19> _ L x
7
2% — X

Expand (multiply): (x —4)(4x - 1)

L/X'Z,X -] bx +'

L/)(l—l_]x “’L.l

Factor:21x° —28x

7x(3><q—‘f)

Factor: x> —4x-21
)(2-7)( +3 2]
X (x-’ﬂ +3(x-1)

(x 7)(x "'3>
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3015.

3] 16.

347,

3338

Math 10

Factor: x*—64

6( fS’)(x—C/)

Factor: 10x2—4x—15x+6

7% (Sx -2) =3 (Sx —2:)

(S— x -2) ('2x’3>

Expand (multiply): (2x—1)(—x2+3x+7)

Final Exam Part 2

2+ Gx T Y x
+ x> - 3%

S

—2x3i'7x2+ I1x =7
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34 8. Factor: x"-625

(w%-25) (428 )

Ge-5) (x+S )2 )

35 260  Factor: 7x*—49x+84
7(x*-Tx+12)
7(x 4% 5% +12)

2 bees) -3 (< =)
7 (x—q) (x '3)

36 21.  simplify then Factor: (5x"‘+3x3—140x2—45)*(3x3—40x2—5x4—-135)
1oxt - 100x™ + 90
10 (xT-10x"+ c‘)
o (¥ =7 ~*44)

Jo (x"‘(xi‘c’)" (>-)

10 (x'f— ‘i)(xlfo
10 (x +3)(xv3)(x+l)(x-l>
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imotty o arao: (2 JE) () (y) 3y ()" (7)
3722 : (z‘zxy‘z)(y“*) (x3y9)(3x)3 (xﬁyﬁ)(y7)(x-7)

L[%,_E\i:-»ig

Y
- Y >
T By e
-3 -8
7 Sxrl
F 3

L 4




